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BEHIZ2:1 020mol DLE ) —AZEBZDITIZZ N2 — 2 0.10 mol
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B3l (% 6m)
1
Zn+2HCl — ZnCL+H:
2 .
D mol B 65 6.5g DHPHIZ 0.1 mol 1 mol DIKEIBFKET 3
H: 0.1lmol DE X =0.2¢g
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2 6.0x1022 (ff)




$4ll (& 6R)

i1
E BMRITRIG

2
i Mn OF{tEIE KMnO4 T+ 7, MnSO4 T+ 2

Ko TRALEIZ 5 WA T 5

3 BV HVBAY) Y LKBBRDODENEERZALTB L,

2x1.0%(10.0/1000)=5 < A X (10.0/1000)

X b, A=0.4[mol/L] % 0.4(mol/L)
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[#2Z6]D

[#2ER]H, SO, EFRERDIATEZEZ V cm®E9 5, FE(F 98, BEEIL 1.8g/cm,
MEEIL 1.8g/cm®*V cm® * 98/100+-98=1.8V/100

FIRZEOFEEREE 90ml [2TEENS H,SO0, DYEE [
1.0mol/L*90/1000=0.09mol

1.8V/100=0.09mol V=5ml

[E2fIfEERR]

[f2Z1] TA/—)L CHsOH M7 FEIL 12%2+1%5+16%1+1=46
[(fR&2] MWELYII—ADEEIL 18¢
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TR2/—JL CHsOH D5 F =& 12%2+1%5+16%1+1=46
EILE=(S 46g/mol 9.2 DYE E (L 9.2g+46g/mol=0.20mol

ERTAHIR/—IILET IILaA—RADOYEELLIT2:1

0.20mol MIR/—I)LEEDDIZIES ILa—X 0.10 mol HAIXRLY
RIEL=T IWLa—R(HFEF 180 LD TEILEEZIL 180/mo)DE=IE
0.10mol X 180g/mol=18g
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[#2%1) Zn+2HCI = ZnCly+H,
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H, 0.1mol MEX=0.2¢
[#%2%Z3] 6.0x10%

[f#ZE%3)] H, 0.1mol MHF%1=0.1 * 6.0 X 102

[ 4RfAEEARE]
[(f2%1] BRILETRIS

[f2%2] Mn OERIEHIE KMnO4 T+7, MnSO04 TlE+2
EHOTEE#IZ 5 /DTS

[#223] 0.4(mol/L)

BIUAVEEN) D LIKBBRDEIVEEEZ ALTDHE.
2 % 1.00 % (10.0/1000)=5 x A X (10.0/1000)

&Y. A=0.200[mol/L]
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